DATE: 4 /6/96 AGENDA ITEM # /3
() APPROVED () DENIED
() CONTINUED TO

TO:

JAMES L. APP, CITY MANAGER

FROM:

JOHN R. McCARTHY, DIRECTOR OF PUBLIC WORKS

SUBJECT:

AWARD OF BID - NORTH COUNTY TRANSPORTATION CENTER - PHASE III

CONSTRUCTION

DPW PROJECT No. 94-10

DATE:

APRIL 6, 1999

Needs:

For the City Council to adopt the attached resolution awarding the low bid for North County Transportation Center - Phase III Construction to The Sanchez Company of Paso Robles, California in the amount of \$143,840.00.

Facts:

- 1. Eight (8) bids were received on March 25, 1999, with the low bid submitted by The Sanchez Company in the amount of \$143,840.00.
- 2. Funding for this project was approved in the Capital Improvement Program, and will be reimbursed by grant money.
- 3. Proposed Phase 3 construction is to install a drive lane connecting the permanent depot to the phase one shelter and adding 60 more parking spaces to the Transportation Center.

Analysis and

Conclusion:

The bids received were reviewed by staff and it is recommended that the bid for the North County Transportation Center - Phase III Construction be awarded to The Sanchez Company of Paso Robles, California.

Policy

Reference:

Current Capital Improvement Program.

Fiscal

Impact:

City Council approved funding for this project as part of the current Capital Improvement Program. Bid price is \$143,840.00, and will be reimbursed by grant money.

Options:

- A. That the City Council award the low bid of \$143,840.00 for North County Transportation Center Phase III Construction DPW Project No. 94-10 to The Sanchez Company of Paso Robles, California.
- B. Amend, modify or reject the above option.

Attachments: (2)

- 1) Resolution
- 2) Bid

C:\lb\ccagenda\04-06-99\94-10 III awd

RESOLUTION No. 99-____

A RESOLUTION OF THE CITY COUNCIL OF THE CITY OF PASO ROBLES AWARDING THE LOW BID FOR NORTH COUNTY TRANSPORTATION CENTER - PHASE III CONSTRUCTION TO THE SANCHEZ COMPANY AND AUTHORIZE EXECUTION OF THE CONTRACT

WHEREAS, The bid opening for North County Transportation Center - Phase III Construction DPW Project No. 94-10 was held on March 25, 1999, with eight (8) bids received; and

WHEREAS, City staff reviewed all bids received and has recommended that the bid be awarded to The Sanchez Company of Paso Robles, California in the amount of \$143,840.00; and

WHEREAS, City Council has approved funding for this project in the current Capital Improvement Program, with

THEREFORE, BE IT RESOLVED AS FOLLOWS:

reimbursement coming from grant funding.

Section 1. That the City Council of the City of Paso Robles does award the bid for North County Transportation Center – Phase III Construction DPW Project No. 94-10 to The Sanchez Company in the amount of \$143,840.00.

Section 2. That the City Council of the City of Paso Robles does authorize the City Manager to execute the contract with The Sanchez Company for North County Transportation Center – Phase III Construction DPW Project No. 94-10.

PASSED AND ADOPTED by the City Council of the City of Paso Robles, this 6th day of March, 1999, on the following vote:

AYES: NOES: ABSENT: ABSTAIN:		
ATTEST:	Duane Picanco, Mayor	
Madelyn Paasch, City Clerk		

BID SUMMARY NORTH COUNTY TRANSPORTATION CENTER - PHASE III CONSTRUCTION **DPW PROJECT No. 94-10**

155,200.00		150,894.00		143,840.00				BID TOTAL		
150,700.00		146,194.00		135,840.00				SUBTOTAL		
1,800.00	00	2,5 53.00	8.51	3, 0 00.00	10.00	ş	30 0	Brick Pavers	15 Brick	
10,0 00.00	10,000.00	11,0 92.00	11,092.00	14,000.00	14,000.00	S	-	es.	14 Utilities	
2,500.00	2,500.00	1,210 .00	1,210.00	1,650.00	1,650.00	Ę	-	Fire Hydrant	13 Fire	
9,600.00	120.00	4,356.00	54.45	3 ,9 20.00	49.00	Ę	80	10" PVC W/Fitting & Valves	b 10"	
5,9 00.00	59.00	2,475.00	24.75	3,400.00	34.00	두	10 0	6" PVC W/Fittings & Valves	ရာ တူ	
								Water System	12 Wate	
12,000.00	40.00	4,125.00	13.75	7 ,2 00.00	24.00	≒	300	Sewer System	11 Sews	
26 ,500. 0 0	26,500.00	24,458.00	24,458.00	21,000.00	21,000.00	S	_	Site Lighting	10 Site	
18, 200. 0 0	1.30	20,0 20.00	1.43	16,800.00	1.20	SF	14,000	2" AC/6" Base	2" AC	
								Asphalt Concrete Pave ent	9 Asph	
27,800.00	2.00	28,773.00	2.07	22,240.00	1.60	SF	13,90 0	4" AC/6" Base	4" AC	
								Asphalt Concrete Pavement	8 Asph	
5,400.00	18.00	6,393.00	21.31	3,600.00	12.00	5	30 0	Concrete V-ditch	7 Conc	
3,200.00	4.00	3,312.00	4.14	2,080.00	2.60	ξ	80 0	Concrete Sidewalk	6 Conc	
12,800.00	8.00	21,472.00	13.42	16,000.00	10.00	4	1,600	Concrete Curb	5 Conc	
10,000.00	10,000.00	9,845.00	9,845.00	16,000.00	16,000.00	เร	_	Relocation of Bungalow	4 Relo	
300.00	30 0.00	200.00	200.00	200.00	200.00	₽	-	7	b Bench	
1,000.00	1,000.00	500.00	500.00	35 0.00	350.00	₽	_	Street Light	a Stree	
								cate	3 Relocate	
100.00	100.00	150.00	150.00	300.00	300.00	Ę	_	Scurb Oak	e Scur	
200.00	20 0.00	150 .00	150.00	300.00	300.00	Ē	_	d Almond Tree	d Almo	
1,500.00	1,50 0.00	2,500 .00	2,500.00	1,700.00	1,700.00	Ē	_		c Dock	
900.00	30 0.00	1,350 .00	450.00	1,500.00	500.00	5	ω	rees	b Elm Trees	
1,000.00	1,000.00	1,260 .00	1,260.00	600.00	600.00	LS	_	a Driveway & Sidewalk	a Drive	
								Demolition/Removal	2 Dem	
4,500.00		4,700.00		8,000.00				SUBTOTAL		
4,500 .00	4,500.00	4,700.00	4,700.00	8,000.00	8,000.00	LS		Mobilization/Traffic Control	1 Mobi	
EXT. PRICE	UNIT PRICE	EXT. PRICE	UNIT PRICE	EXT. PRICE	UNIT PRICE	TINU	EST. QTY.	DESCRIPTION	ITEM	
P	SAN LUIS OBISPO, CA		PASO ROBLES, CA		PASO ROBLES, CA					
ICTI	MADONNA CONSTRUCTI	& GRAVEL, INC.	VIBORG SAND & GR		THE SANCHEZ COMPANY					\neg
			NO. 94-10	DTW TROJECT NO	שישט					

Prepared by Lori Lambo 3/26/99

Tage 1

BID SUMARY NORTH COUNTY TRANSPORTATION NTE

PORTATION NTER - PHASE III CONSTRUCTION DPW PROJECT No. 94-10

		1

t

JOHN MADDONA CONSTRUCTION TYNER PAVING MAINO CONSTRUCTION PASO ROBLES, CA SAN LUIS OBISPO, CA SAN LUIS OBISPO, CA **EXT. PRICE UNIT PRICE** ITEM DESCRIPTION EST. QTY. UNIT **UNIT PRICE EXT. PRICE UNIT PRICE EXT. PRICE** 8,377.00 3,000.00 3.000.00 7.180.00 7,180.00 Mobilization/Traffic Control LS 8,377.00 3.000.00 7.180.00 SUBTOTAL 8,377.00 Demolition/Removal 1,200,00 2.065.00 2.065.00 LS 1.368.00 1,368.00 1,200.00 1 a Driveway & Sidewalk 2,250.00 3 EΑ 265.00 795.00 475.00 1.425.00 750.00 b Elm Trees 500.00 EΑ 996.00 996.00 7,480,00 7,480.00 500.00 c Dock 1 989.00 1.060.00 1.060.00 250.00 250.00 d Almond Tree 1 EA 989.00 935.00 100.00 935.00 100.00 e Scurb Oak 1 EA 2,614,00 2,614.00 3 Relocate EΑ 545.40 280.00 280.00 495.00 495.00 a Street Light 1 545.40 330.00 250.00 330.00 250.00 EA 655.00 655.00 b Bench 8,860.00 11,720.00 Relocation of Bungalow LS 4,683.00 4,683.00 8.860.00 11.720.00 LF 15.680.00 12.60 20,160.00 14.76 23,616.00 5 Concrete Curb 1.600 9.80 6 Concrete Sidewalk 800 SF 3.65 2,920.00 4.20 3,360.00 3.00 2,400.00 7 Concrete V-ditch 300 LF 22.55 6.765.00 20.70 6.210.00 12.00 3,600.00 8 Asphalt Concrete Pavement SF 20,155.00 4" AC/6" Base 13,900 1.40 19,460.00 2.05 28,495,00 1.45 9 Asphalt Concrete Pavement 2" AC/6" Base 14.000 SF 14,700.00 22,400.00 1.30 18,200.00 1.05 1.60 22,550.00 21,450.00 21,450.00 10 Site Lighting 1 LS 25,149.00 25,149.00 22,550.00 11 Sewer System 300 LF 56.20 16,860.00 32.00 9,600.00 45.40 13,620.00 Water System 12 LF 6" PVC W/Fittings & Valves 100 38.80 3.880.00 48.00 4.800.00 101.50 10.150.00 LF 10" PVC W/Fitting & Valves 80 133.30 10.664.00 94.75 7.580.00 153.90 12.312.00 13 Fire Hydrant 1 EΑ 1,812.00 1,812.00 2,100.00 2,100.00 1,300.00 1,300.00 Utilities 14 LS 1 18.043.00 18.043.00 12,950.00 12.950.00 16.190.00 16,190,00 Brick Pavers 15 300 SF 9.50 13.30 10.92 2.850.00 3.990.00 3,276.00 SUBTOTAL 151,428.40 165.765.00 163,899.00 **BID TOTAL** 159,805.40 168,765.00 171,079.00

BID SUMMARY NORTH COUNTY TRANSPORTATION CENTER - PHASE III CONSTRUCTION DPW PROJECT No. 94-10

				MAINO CONSTRUCTIO	ON	WYSONG CONSTRUC	CTION
				SAN LUIS OBISPO, CA		ATASCADERO, CA	
ITEM	DESCRIPTION	EST. QTY.	UNIT	UNIT PRICE	EXT. PRICE	UNIT PRICE	EXT. PRICE
1	Mobilization/Traffic Control	1	LS	7,386.00	7,386.00	4,500.00	4,500.00
	SUBTOTAL				7,386.00		4,500.00
2	Demolition/Removal						
а	Driveway & Sidewalk	1	LS	1,884.00	1,884.00	1,200.00	1,200.00
b	Elm Trees	3	EA	162.00	486.00	500.00	1,500.00
С	Dock	1	EA	756.00	756.00	750.00	750.00
d	Almond Tree	1	EA	162.00	162.00	500.00	500.00
е	Scurb Oak	1	EA	108.00	108.00	500.00	500.00
3	Relocate						
а	Street Light	1	EA	275.00	275.00	500.00	500.00
b	Bench	1	EA	756.00	756.00	300.00	300.00
4	Relocation of Bungalow	1	LS	7,983.00	7,983.00	8,280.00	8,280.00
5	Concrete Curb	1,600	LF	14.25	22,800.00	15.50	24,800.00
6	Concrete Sidewalk	800	SF	4.86	3,888.00	3.00	2,400.00
7	Concrete V-ditch	300	LF	30.00	9,000.00	15.00	4,500.00
8	Asphalt Concrete Pavement						
	4" AC/6" Base	13,900	SF	2.35	32,665.00	2.81	39,059.00
9	Asphalt Concrete Pavement						
	2" AC/6" Base	14,000	SF	1.95	27,300.00	2.64	36,960.00
10	Site Lighting	1	LS	21,228.00	21,228.00	27,000.00	27,000.00
11	Sewer System	300	LF	36.72	11,016.00	39.00	11,700.00
12	Water System						
а	6" PVC W/Fittings & Valves	100	LF	39.42	3,942.00	23.00	2,300.00
b		80	LF	55.00	4,400.00		4,480.00
13	Fire Hydrant	1	EA	1,296.00	1,296.00		3,900.00
14	 Utilities	1	LS	12,959.00	12,959.00		19,000.00
15	Brick Pavers	300	SF	5.40	1,620.00		4,425.00
	SUBTOTAL				164,524.00		194,054.00
	BID TOTAL				171,910.00		198,554.00